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Day 2.4 — Notes

GSE Algebra | Unit 2 — Solving Equations & Inequalities

Date: o
Solving Systems by Graphing

Name:

1. Make sure each equation is in slope-intercept form: y = mx ¥ 5,
2. Graph each equation on the same graph paper.
3. The point where the lines intersect is the so‘luhon.
If they don't intersect then there's no solution.
4. Check your solution algebraically!
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 Ifthe lines have the same

y-infercept b, and the same slope m, then the system has

Lnfinitely many
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* [Ifthe lines have different slopes m, the system has ON@ Solution.




GSE Algebra | Unit 2 - Solving Equations & Inequalities Day 2.4 - Notes

Solving Systems by Substitution

. Steps. L

. One equohon wnll have eﬁher x or y by itself, or can be solved for X Oory

easily.
2. Substitute the expression from Step 1 into the other equation and solve

for the other variable.
Substitute the value from Step 2 into the equation from Step 1 and solve.

3
4. Your solution is the ordered pair formed by x & y.
5. Check the solution in each of the original equations.
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A +ay=a0 G 3 xt-D=3 o
-la + 3y =30 3=Np Qx-1=3 '
+12 +Ha Qx:=4
Chle : X=A
3x+2y =-12 x{-y-3 = wl -
e U S L
3x +2(x- -1 =i U=.3 1,.3) - = 1o x=1-3
Ix +aAx-3A *° -l "l(alj 3 xX=%
sx=-10 [ J 'd 22 [(8,22)]
; X =-
# _( 5y +4) 4. 2% Sy = 29 e -1 +
3x+15y——~] X=-4y +8
=9 x=12

3(-sy+ +i5y=-1 | No Solutions] a(-wy+#)-SY - I
oy +13 + 16Y=~| “By e == -
R I =13 (30

-13° B

t- MSEll g 2x-3y=-24 aoz-l
W 2x-10y =20 T Xx+6y=18 - 13
x--wgﬂz x+aH=

205yt -lboy =R0 o

oy t20 —Ioy =20
9y 3 13y + 30 33 U A

a0 = aa
_16u = -0
@ Saluhansl '553 wa




GSE Algebra |

Unit 2b = Syste

ms

2b.2 - Notes

==

Solving Systems by Elimination

. Arrange the equations with like terms in columns. ‘
Multiply, if necessary, to create opposite coefficients for one variable.

]
2.
3. Add/Subftract the equations.
4. Substitute the value to solve for the other variable.
5. Write your answer as an ordered pair.
6. Check your answer.,
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Solving Systems of Equations - Skills Check

Using only the infomration proivded, determine the

Date Period

The tables below represent two functions.

solution to the system of equations.
D Seluhon(s): (% H) 2 Solution(s): ho SolutionS
Function B - ) x 190
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o | .7 -2 | 10 )2 -2 0 32
1 | s -1 | 12 -1] 2
L? Y )a | e ) Q
-1 1| 16 2 e
il 2 | 18 2 | 8
5 3 3 A20 3 10
s | s 4 | 22 4 | 12
y=2xckl Y= +*1
Solve each system by graphing.
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Solve each system by substitution.

5) y=6x-4 Solution(s) -
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Solve each system by elimination.
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Graphing and Solving Linear Inequalities

Then determine which of the given ordered pairs is a solution. Check all that apply.

0 &<-2F

2.y=22x-5
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i Graph each linear inequality.
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N Solutions: Solutions:
k B (92 (-2, -9)
® (-50) ® (0,-4)
O (0,-2) 2 (3,-2)
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Graphing Systems of Inequalities ate
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Sketch the solution te each system of inequalities.

1) }zgjz\vw"d m=°§ ¢1 m=3 b: -
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